Mathematical Sciences Letters An International Journal

Solution to a Class of First-Order Fuzzy Cauchy-Euler Differential Equations

Mehran Chehlabi* and Tofigh Allahviranloo

Department of Mathematics, Science and Research Branch, Islamic Azad University, Tehran, Iran

Received: 11 Feb. 2015, Revised: 23 Aug. 2015, Accepted: 1 Sep. 2015 Published online: 1 May 2016

Abstract: In this paper, we study the solution related to a class of fuzzy differential equations which are called fuzzy Cauchy-Euler differential equations of first-order. We first, investigate the proper spaces which are contained of generalized differentiable fuzzy-valued functions, based on the solution functions representation in the crisp case of equation. Next, we obtain the solution function and the existence conditions of it, in details. Finally, it is illustrated by solving two numerical examples.

Keywords: Fuzzy differential equations, Generalized differentiability, Fuzzy-valued functions

1 Introduction

Solving differential equations in the conditions of uncertainty is interesting and applicable in mathematics and engineering sciences. Up to now, many studies have been done on such equations (for examples [1,2,3,4,5,6,7,8]). Also, some numerical methods can be seen in [9, 10, 11, 12]. The first-order linear fuzzy differential equations are samples of such equations that are presented more in application. Such an equation may be appeared in one of three forms, with fuzzy initial value $y(0) = y_0$

(a). y'(t) = a(t)y(t) + b(t),

(b). y'(t) + (-a(t))y(t) = b(t) or

(c). y'(t) + (-b(t)) = a(t)y(t).

The possibility solutions of equation (a) are obtained in [2] and [13], by assuming a(t) is a continuous positive or negative real function, defined on time interval [0, T]and using the generalized differentiability concept (G-differentiability), which is introduced by Bede et al. [1]. Recently, we obtain all solutions of equations (a), (b) and (c), under generalized differentiability concept, by using length function properties on fuzzy-valued functions [14]. A class of linear differential equations are known to Cauchy-Euler equations which appear in number of physics and engineering applications. In this paper, we consider a Cauchy-Euler equation of first-order under uncertainty and in the following form

$$\begin{cases} (t-\alpha)y'(t) + u(t) = \beta y(t), \\ y(a) = y_0, \quad t \in I = [a,b], \quad t \neq \alpha. \end{cases}$$
(1)

Where y_0 is a fuzzy number, and α and β are real numbers. We wish to study the existence of solution to the equation (1), when the function u(t) is a fuzzy polynomial of degree at most *n*, around point $t = \alpha$, i.e.

$$u(t) = \sum_{i=0}^{n} (t - \alpha)^{i} u_{i}$$

$$\tag{2}$$

where u_i for i = 0, 1, ..., n are fuzzy numbers. For this end, we first, point out the structure of solutions related to the crisp form of the equation. Accordingly, we introduce the proper spaces of fuzzy-valued functions, which can be included the solution of the problem (1). On these spaces, we give some results of generalized differentiability, ((*i*) or (*ii*)-differentiability). Next, we explain the details attaining to solution formula and express the conditions of it's existence, given as Theorem 4.1. Finally, the solution expression is applied for solving two numerical examples.

2 Preliminaries

An arbitrary fuzzy number can be represented by an ordered pair of functions $u = (u_r^-, u_r^+)$ on interval [0,1] as parametric form such that u_r^- is a left continuous, bounded and non-decreasing function, u_r^+ is a left continuous, bounded and non-increasing function and $u_r^- \le u_r^+$. We denote the *r*-cut form of a fuzzy number *u* as $[u]^r = [u_r^-, u_r^+]$. The set all fuzzy numbers is denoted by

^{*} Corresponding author e-mail: chehlabi@yahoo.com

 \mathbb{R}_F . If $u, v \in \mathbb{R}_F$ and $\lambda \in \mathbb{R}$, then u + v and λu are defined by

$$[u+v]^r = [u]^r + [v]^r = [u_r^- + v_r^-, u_r^+ + v_r^+],$$

and

$$\begin{split} & [\lambda u]^r = \lambda [u]^r \\ &= [\min(\lambda u_r^-, \lambda u_r^+), \max(\lambda u_r^-, \lambda u_r^+)], \end{split}$$

for all $r \in [0, 1]$ (see [15]).

Definition 2.1.[1,4]. Let $u, v \in \mathbb{R}_F$. If there exists $w \in \mathbb{R}_F$ such that, u = v + w then w is called the H-difference of u, v and it is denoted as $u \ominus v$. We note that $u \ominus v \neq u - v = u + (-1)v$.

Definition 2.2.[1,14]. Let $f : (a,b) \to \mathbb{R}_F$. Fix $t_0 \in (a,b)$. We say f is G-differentiable at t_0 , if the H-differences $f(t_0 + h) \ominus f(t_0)$, $f(t_0) \ominus f(t_0 - h)$ for all h > 0 or all h < 0, sufficiently close to 0 exist, and an element $f'(t_0) \in \mathbb{R}_F$ exists, such that either (i):

$$\lim_{h \to 0^+} \frac{f(t_0 + h) \ominus f(t_0)}{h} = \lim_{h \to 0^+} \frac{f(t_0) \ominus f(t_0 - h)}{h} = f'(t_0)$$

or (ii):

$$\lim_{h \to 0^{-}} \frac{f(t_0 + h) \ominus f(t_0)}{h} = \lim_{h \to 0^{-}} \frac{f(t_0) \ominus f(t_0 - h)}{h} = f'(t_0)$$

or (iii):

$$\lim_{h \to 0^+} \frac{f(t_0 + h) \ominus f(t_0)}{h} = \lim_{h \to 0^-} \frac{f(t_0 + h) \ominus f(t_0)}{h} = f'(t_0)$$

or (iv):

$$\lim_{h \to 0^+} \frac{f(t_0) \ominus f(t_0 - h)}{h} = \lim_{h \to 0^-} \frac{f(t_0) \ominus f(t_0 - h)}{h} = f'(t_0).$$

A straightforward way to calculating $[f'(t)]^r$ is visible in [14], Theorem 2.13, also see [16], Theorem 5.

Definition 2.3.[17]. We say that a point $t_0 \in (a,b)$ is a switching point for the differentiability of f, if G-differentiability changes from type (i) to type (ii), or from type (ii) to type (i), in Definition 2.2.

Chalco et al. [18], have been demonstrated if t_0 be a switching point, then f at t_0 is a differentiable function in the sense (*iii*) or (*iv*). Moreover, if f is differentiable on over (a,b) in the sense (*iii*) (or (*iv*)) then $f'(t) = \{c\}$, where $c \in \mathbb{R}$ is a real number.

3 Structure of solution space

In this section, we attempt to obtain a proper space of fuzzy-valued functions which can be included the solution of equation (1). For this purpose, let us point out the structure of solution function in the crisp case of the equation. In the crisp case, the solution is considered as exponential function $y(t) = (t - \alpha)^r$, where the unknown number *r* should be found such that *y* satisfies in the equation (1). Since the behaviour of solution in the uncertainty case should reflects the behaviour of solution in the crisp case of the equation, namely 1-cut equation of (1), then we define a space of requirement fuzzy-valued functions as follows:

Consider $\alpha \in \mathbb{R}$ and I = [a, b]. We set

$$F_{\alpha}(I) =$$

$$\Big\{f: I \to \mathbb{R}_F | f(t) = \sum_{i=0}^n |t - \alpha|^{\alpha_i} v_i, \ \alpha_i \in \mathbb{R}, \ v_i \in \mathbb{R}_F \Big\}.$$

The following result shows that the set $F_{\alpha}(I)$ includes some *G*-differentiable functions on (a,b), except presumably at point $t = \alpha$.

Theorem 3.1. Consider $f(t) = \sum_{i=0}^{n} |t - \alpha|^{\alpha_i}$ $v_i \in F_{\alpha}(I)$ such that numbers α_i for i = 0, 1, ..., n have same sign. In this case

(a). For $\alpha \leq a$, the function f is (i)-differentiable on (a,b), if $\alpha_i \geq 0$ and is (ii)-differentiable on (a,b), if $\alpha_i \leq 0$.

(b). For $\alpha \ge b$, the function f is (ii)-differentiable on (a,b), if $\alpha_i \ge 0$ and is (i)-differentiable on (a,b), if $\alpha_i \le 0$.

(c). For $a < \alpha < b$, if $\alpha_i \ge 0$ then f is (*ii*)-differentiable on (a, α) and (*i*)-differentiable on (α, b) and if $\alpha_i \le 0$ then f is (*i*)-differentiable on (a, α) and (*ii*)-differentiable on (α, b) .

Also, for each cases (a), (b) and (c), we have

$$f'(t) = \sum_{i=0}^{n} \alpha_i |t - \alpha|^{\alpha_i - 1} v'_i$$
(3)

where $v'_i = \begin{cases} -v_i; & a < t < \alpha < b \text{ or } \alpha \ge b, \\ v_i; & a < \alpha < t < b, \text{ or } \alpha \le a \end{cases}$

Proof. Let us, denote $f(t) = \sum_{i=0}^{n} f_i(t)$, where $f_i(t) = g_i(t) v_i$ and $g_i(t) = |t - \alpha|^{\alpha_i}$. According to Lemma 4 in [2], it is sufficient to show that the functions $f_i(t)$ have the same type of G-differentiability. For case (a), we get $g_i(t) = (t - \alpha)^{\alpha_i}$, for $i \in \{0, 1, ..., n\}$ and then

$$g_i(t)g'_i(t) = \alpha_i(t-\alpha)^{2\alpha_i-1}, \ t \in (a,b).$$
 (4)

Therefore, the product $g_i(t)g'_i(t)$ has the same sign as α_i . Since the numbers α_i have the same sign, then by cases (a) and (b) of Theorem 5, in [2], we find that the functions $f_i(t)$ are (*i*)-differentiable, if $\alpha_i \ge 0$, i = 0, 1, ..., n and (*ii*)-differentiable if $\alpha_i \le 0$, i = 0, 1, ..., n.

(b). Since $\alpha \ge b$, we get for i = 0, 1, ..., n, following

$$g_i(t)g'_i(t) = -\alpha_i(\alpha - t)^{2\alpha_i - 1}, \ t \in (a, b).$$
 (5)

Therefore, the reasoning is similar to case (a), with $-\alpha_i$ instead of α .

(c). Since $\alpha \in (a, b)$, then the functions $g_i(t)$ are satisfy in equations (5) and (4) on intervals (a, α) and (α, b) , respectively. Therefore, the reasoning is straightforward for this case, by considering the reasons (a) and (b).

Finally, by Theorem 2 and Lemma 4 in [2], we get $f'(t) = \sum_{i=0}^{n} g'_i(t) \ v_i$, where $g'_i(t) = \alpha_i(t-\alpha)^{\alpha_i-1}$, for when $a < \alpha < t < b$ or $\alpha \le a$ and $g'_i(t) = -\alpha_i(\alpha - t)^{\alpha_i-1}$, for when $a < t < \alpha < b$ or $\alpha \ge b$, which simply gives us the equality (3). \Box .

As a consequently, we should consider the special class of functions belong to $F_{\alpha}(I)$. In fact, Theorem 3.1 shows that, if the values $\alpha_0, \alpha_1, ..., \alpha_n$, associated to function $f \in F_{\alpha}(I)$, are all non-negative or all non-positive, then f is appropriate for using from the point of view *G*-differentiability. We thus, consider two the following family of functions

$$F_{\alpha}^{+}(I) = \left\{ f \in F_{\alpha}(I) | \ \alpha_{i} \ge 0, \ i = 0, 1, ..., n \right\}$$

and

$$F_{\alpha}^{-}(I) = \left\{ f \in F_{\alpha}(I) | \ \alpha_{i} \leq 0, \ i = 0, 1, ..., n \right\}.$$

One is note that, if $f \in F_{\alpha}^{-}(I)$ and $\alpha \in (a,b)$, then the functions f and f' are discontinues at point $t = \alpha$. While if $f \in F_{\alpha}^{+}(I)$ and $\alpha \in (a,b)$, then by (3), the functions f and f' are continuous on interval I, provided that $\alpha_i \ge 1$ for i = 0, 1, ..., n. Furthermore, we get the following result.

Corollary 3.2. Let $f(t) = \sum_{i=0}^{n} |t - \alpha|^{\alpha_i} v_i \in F_{\alpha}^+(I)$ and $\alpha \in (a,b)$. If $\alpha_i \in \{0\} \cup (1, +\infty)$ for i = 0, 1, ..., n, then f has a switching point at point $t = \alpha$ and further $f'(\alpha) = 0$. **Proof.** Considering Theorem 3.1 case (c), it is sufficient that, we show f is (*iii*)-differentiable at point $t = \alpha$. For h sufficiently close to zero, such that $\alpha + h \in (a,b)$, we obtain

$$\lim_{h \to 0^+} \frac{f(\alpha+h) \ominus f(\alpha)}{h} = \lim_{h \to 0^+} \frac{1}{h} \sum_{i=0}^n h^{\alpha_i} v_i = 0$$

and

$$\lim_{h\to 0^-}\frac{f(\alpha+h)\ominus f(\alpha)}{h}=\lim_{h\to 0^-}\frac{1}{h}\sum_{i=0}^n(-h)^{\alpha_i}v_i=0$$

that gives us the required conclusion. \Box .

In final this section, we consider fuzzy-values functions which are appeared in the fuzzy polynomial form. A fuzzy polynomial around point α and considered on interval *I*, can be seen as a function with two criteria belong to $F^+_{\alpha}(I)$. Indeed

$$\sum_{i=0}^{n} (t-\alpha)^{i} u_{i} = \sum_{i=0}^{n} |t-\alpha|^{i} u_{i}^{\prime}, \tag{6}$$

where
$$u'_i = \begin{cases} -u_i; & t < \alpha, \ i \ is \ odd \\ u_i; & Otherwise \end{cases}$$
.

Remark 3.3. Consider the fuzzy polynomial $f(t) = \sum_{i=0}^{n} (t - \alpha)^{i} u_{i}$ on the real axes *t*. By Theorem 3.1 and equality (6), we find that if $t > \alpha$ then *f* is (*i*)-differentiable and if $t < \alpha$ then *f* is (*ii*)-differentiable and also, for both cases (*i*) or (*ii*)-differentiability, we have

$$f'(t) = \sum_{i=1}^{n} i(t-\alpha)^{i-1} u_i.$$
 (7)

Furthermore, it is easy to deduce that

$$\lim_{h\to 0^+}\frac{f(\alpha+h)\ominus f(\alpha)}{h}=\lim_{h\to 0^-}\frac{f(\alpha+h)\ominus f(\alpha)}{h}=\nu_1,$$

that results that *f* has a switching point at $t = \alpha$.

4 Solution of fuzzy Cauchy-Euler equation

In this section, obtaining solution for fuzzy Cauchy-Euler equation in form (1), is discussed where u(t) is given as (2). Since u(t) is a fuzzy polynomial around α , then we focus on the space $F_{\alpha}^+(I)$ for sake of finding solution. Suppose that the equation

$$(t - \alpha)y'(t) + u(t) = \beta y(t) \tag{8}$$

has solution as fuzzy polynomial $y_p(t) = \sum_{i=0}^{n} (t - \alpha)^i v_i$. Then

$$(t - \alpha)y'_p(t) + u(t) = \beta y_p(t)$$

By substituting (7), we get the following equality

$$\sum_{i=1}^{n} i(t-\alpha)^{i} v_{i} + \sum_{i=0}^{n} (t-\alpha)^{i} u_{i} = \beta \sum_{i=0}^{n} (t-\alpha)^{i} v_{i}.$$

It is easy to deduce that

$$mv_m + u_m = \beta v_m, \quad m = 0, 1, \dots, n$$

that is

$$\beta v_m \ominus m v_m = u_m, \quad m = 0, 1, \dots, n.$$

If we assume that $\beta > n$ then the last equality is equal to $(\beta - m)v_m = u_m$, that means that

$$v_m = \frac{1}{\beta - m} u_m, \quad m = 0, 1, \dots, n.$$

We thus, obtain y_p as the following function

$$y_p(t) = \sum_{i=0}^n \frac{(t-\alpha)^i}{\beta - i} u_i,$$
(9)

which is obtained, uniquely.

Now, we consider the equation (8) on interval I = [a, b], with fuzzy initial condition $y(a) = y_0$. For the sake of instituting the initial condition, we addition a

complementary function $y_h(t)$ and represent the solution function as

$$\mathbf{y}(t) = \mathbf{y}_p(t) + \mathbf{y}_h(t).$$

Whereas the polynomial $y_p(t)$ is unique solution of equation (8), then the function $y_h(t)$ should be satisfied the following homogeneous equation

$$(t-\alpha)y_h'(t) = \beta y_h(t).$$

It is easy to check that the last equation has solution as follows

$$y_h(t) = \begin{cases} -(\alpha - t)^{\beta} v; \ a \le t < \alpha < b, \ or \ \alpha \ge b, \\ (t - \alpha)^{\beta} v; \ a < \alpha < t \le b, \ or \ \alpha \le a, \end{cases}$$
(10)

where *v* is an arbitrary fuzzy number. Now, we obtain the fuzzy number *v* based on initial condition $y(a) = y_0$, i.e. $y_p(a) + y_h(a) = y_0$. By (10) we get

$$y_h(a) = \begin{cases} -(\alpha - a)^{\beta} c; & \alpha > a, \\ (a - \alpha)^{\beta} c; & \alpha < a, \end{cases}$$

where c is an arbitrary fuzzy number. This equality can be written as

$$y_h(a) = |a - \alpha|^{\beta} u$$

with $u = \begin{cases} -c; & \alpha > a, \\ c; & \alpha < a. \end{cases}$

Considering (9), the initial condition leads to the following equality

$$\sum_{i=0}^{n} \frac{(a-\alpha)i}{\beta-i} u_i + |a-\alpha|^{\beta} u = y_0,$$

that gives

$$u = |a - \alpha|^{-\beta} \left\{ y_0 \ominus \left(\sum_{i=0}^n \frac{(a - \alpha)^i}{\beta - i} u_i \right) \right\}, \qquad (11)$$

provided that the H-difference exists.

Therefore, the solution function of equation (1) is found as follows

$$y(t) = \sum_{i=0}^{n} \frac{(t-\alpha)^{i}}{\beta-i} u_{i} + |t-\alpha|^{\beta} u_{i}$$

with v' given as (11).

The G-differentiability properties the function y(t) simply, can be produced by Theorem 3.1 and Remark 3.3. In fact, we have proved the following result.

Theorem 4.1. Consider the initial value problem

$$\begin{cases} (t-\alpha)y'(t) + \sum_{i=0}^{n} (t-\alpha)^{i} u_{i} = \beta y(t), \\ y(a) = y_{0}, \quad a \leq t \leq b, \ t \neq \alpha. \end{cases}$$

Where α and β are real numbers and y_0 is a fuzzy number. If $\beta > n$ and the H-difference

$$y_0 \ominus \sum_{i=0}^n \frac{(a-\alpha)^i}{\beta-i} u_i \tag{12}$$

exists, then the equation has solution as

$$y(t) = \sum_{i=0}^{n} \frac{(t-\alpha)^{i}}{\beta - i} u_{i} + |t-\alpha|^{\beta} u,$$
(13)

where $u = |a - \alpha|^{-\beta} \left\{ y_0 \ominus \left(\sum_{i=0}^n \frac{(a-\alpha)^i}{\beta-i} u_i \right) \right\}$. Further, y(t) is a (*i*)-differentiable function on (a,b), for $\alpha \le a$ and it is a (*ii*)-differentiable function on (a,b), for $\alpha \ge b$ and has a switching point at $t = \alpha$, for $\alpha \in (a,b)$.

5 Numerical examples

In order to the practical application and observe the behavior of solution function, we solve two examples.

Example 5.1. Consider fuzzy differential equation

$$\begin{cases} (t-1)y'(t) + u_0 + (t-1)u_1 = \frac{3}{2}y(t), \\ y(0) = y_0, \quad t \ge 0, \ t \ne 1. \end{cases}$$
(14)

Where $[u_0]^r = \frac{1}{4}[r, 2-r], [u_1]^r = \frac{1}{4}[1+r, 3-r]$ and $[y_0]^r = [r, 2-r], 0 \le r \le 1$. For these values, the H-difference (12) exist, because

$$\left[y_0 \ominus \left(\frac{2}{3}u_0 - 2u_1\right)\right]^r = \frac{1}{6}[9 - 2r, 13 - 2r].$$

We thus, obtain of (13), the following

$$y(t) = \frac{2}{3}u_0 + 2(t-1)u_1 + |t-1|^{\frac{3}{2}}u, \quad t > 0,$$

which represents two criteria as solution for equation (14), one is (*i*)-differentiable for t > 1, with the following *r*-cuts

$$[y_1(t)]^r = \left[\frac{1}{6}r + \frac{1}{2}(1+r)(t-1) + \frac{1}{6}(9+2r)(t-1)^{\frac{3}{2}}, \\ \frac{1}{3} - \frac{1}{6}r + \frac{1}{2}(3-r)(t-1) + \frac{1}{6}(13-2r)(t-1)^{\frac{3}{2}} \right]$$

and other is (*ii*)-differentiable for t < 1, with the following *r*-cuts

$$[y_2(t)]^r = \left[\frac{1}{6}r + \frac{1}{2}(3-r)(t-1) + \frac{1}{6}(9+2r)(1-t)^{\frac{3}{2}}, \\ \frac{1}{3} - \frac{1}{6}r + \frac{1}{2}(1+r)(t-1) + \frac{1}{6}(13-2r)(1-t)^{\frac{3}{2}}\right]$$

Also, y(t) has a switching point at t = 1, by Theorem 4.1.

The graphical representation of the solution function y(t), mean functions $y_1(t)$ and $y_2(t)$, for three *r*-cuts r = 0, r = 0.5 and r = 1, can be seen in Fig. 1.





Fig. 1 The solution of example 5.1.

Example 5.2. Let us consider a fuzzy differential equation in different form as follows

$$\begin{cases} (t - \frac{1}{2})y'(t) + e^t a = 2y(t), \\ y(0) = y_0, \quad 0 \le t \le 1, \ t \ne \frac{1}{2}. \end{cases}$$
(15)

Where $[a]^r = [\frac{1}{2}r, 1 - \frac{1}{2}r]$, and $[y_0]^r = [-\frac{1}{2} + \frac{13}{8}, \frac{11}{4} - \frac{13}{8}r]$, $0 \le r \le 1$.

Since $t \in [0,1]$, then a linear approximation can be a suitable alternative for factor $e^t a$. Therefore, we write

$$e^{t}a \cong (1+t)a = \left((t-\frac{1}{2})+\frac{3}{2}\right)a$$

that is $(t - \frac{1}{2})a + \frac{3}{2}a$, by assuming $t > \frac{1}{2}$. We thus, solve the following approximate equation instead of equation (15)

$$\begin{cases} (t - \frac{1}{2})y'(t) + u_0 + (t - \frac{1}{2})u_1 = 2y(t), \\ y(0) = y_0, \quad \frac{1}{2} < t \le 1. \end{cases}$$
(16)

Where $u_0 = \frac{3}{2}a$ and $u_1 = a$. The H-difference (12) exist, because

$$\begin{bmatrix} y_0 \ominus (\frac{1}{2}u_0 - \frac{1}{2}u_1) \end{bmatrix}^r = \begin{bmatrix} y_0 \ominus (\frac{3}{4}a - \frac{1}{2}a) \end{bmatrix}^r \\ = [r, 2 - r].$$

Then u = 4[r, 2 - r] and we obtain the solution function of (16) as follows, which is (*i*)-differentiable on interval $(\frac{1}{2}, 1)$, by Theorem 4.1.

$$y(t) = \frac{1}{2}u_0 + (t - \frac{1}{2})u_1 + (t - \frac{1}{2})^2u_1$$

The other words

$$[y(t)]^{r} = \left[\frac{3}{8}r + \frac{1}{2}r(t - \frac{1}{2}) + 4r(t - \frac{1}{2})^{2}, \\ \frac{3}{4} - \frac{3}{8}r + (1 - \frac{1}{2}r)(t - \frac{1}{2}) + 4(2 - r)(t - \frac{1}{2})^{2}\right].$$

The graphical representation of solution, for r = 0, r = 0.5 and r = 1 of *r*-cuts, can be seen in Fig. 2.



Fig. 2 The solution of example 5.2.

6 Conclusion

In this work, we obtain the solution function representation for a class of first-order fuzzy Cauchy-Euler differential equations, under generalized differentiability concept. Against the previous methods, proposed on fuzzy differential equations, we saw that the solution function can be obtained by studying the proper spaces of generalized differentiable fuzzy-valued functions. In other words, in our method, it is not necessary to turned the problem into a system of ordinary differential equations.

References

- B. Bede, S. G. Gal, Generalizations of the differentiability of fuzzy-number-valued functions with applications to fuzzy differential equations, Fuzzy Sets Syst. 5, 581-599, (2005).
- [2] B. Bede, J. Rudas, L. Bencsik, First order linear fuzzy differential equations under generalized differentiability. Inform. Sci. 177, 1648-1662, (2007).
- [3] B. Bede, T. C. Bhaskar, V. Lakshmikantham, Prespectives of fuzzy initial value problems, Commun. Appl. Anal. 11, 339-358, (2007).
- [4] L. Stefanini, B. Bede, Generalized Hukuhara differentiability of interval-valued functions and interval differential equations, Nonlinear Anal. 71, 1311-1328, (2009).
- [5] M.Z. Ahmad, M.K. Hasan, B. De Baets, Analytical and numerical solutions of fuzzy differential equations. Inform. Sci. 236, 156-167, (2013).
- [6] L. Stefanini, B. Bede, Generalized fuzzy differentiability with LU-parametric representation. Fuzzy Sets Syst. 257, 184-203, (2014).
- [7] Y. Chalco-Cano, H. Román-Flores, Comparation between some approaches to solve fuzzy differential equations, Fuzzy Sets Syst. 160, 1517-1527, (2009).
- [8] B. Bede, L. Stefanini, Solution of fuzzy differential equations with generalized differentiability using LUparametric representation, EUSFLAT, 785-790, (2011).
- [9] J.J. Nieto, A. Khastan, K. Ivaz, Numerical solution of fuzzy differential equations under generalized differentiability, Nonlinear Anal. Hybrid Sys. 14, 687-709, (2006).

- [10] T. Allahviranloo, N. Ahmady, E. Ahmady, Numerical solution of fuzzy differential equations by predictor-corrector method, Inform. Sci. 177, 1633-1643, (2007).
- [11] S. Abbasbandy, T. Allahviranloo, Numerical solutions of fuzzy differential equations by Taylor method, Comput. Meth. Appl. Math. 2, 113124, (2002).
- [12] S. Abbasbandy, T. Allahviranloo, Numerical solution of fuzzy differential equation by RungeKutta method, Nonlinear Stud. 11, 117129, (2004).
- [13] A. Khastan, J. J. Nieto, Rosana Rodriguez-Lopez, Variation of constant formula for first order fuzzy differential equations, Fuzzy Sets Syst. 177, 20-33, (2011).
- [14] T. Allahviranloo, M. Chehlabi, Solving fuzzy differential equations based on the length function properties, Soft Comput. 19, 307-320, (2015).
- [15] C. Wu, Z. Gong, On Henstock integral of fuzzy-numbervalued functions I, Fuzzy Sets Syst. 120, 523-532, (2001).
- [16] Y. Chalco-Cano, H. Roman-Flores, on new solutions of fuzzy differential equations. Chaos, Solutions & Fractals 38, 112-119, (2008).
- [17] B. Bede, S. G. Gal, Solution of fuzzy differential equations based on generalized differentiability, Commun. Math. Anal. 9, 22-41, (2010).
- [18] Y. Chalco-Cano, H. Roman-Flores, M. D. Jimenez-Gamero Generalized derivative and π -derivative for set-valued functions. Inform. Sci. **181**, 2177-2188, (2011).



Mehran Chehlabi is Ph.D student in Applied Mathematics at Islamic Azad University, Science and Research Branch of Tehran (Iran). Also, he is faculty member affiliated with the Islamic Azad University, Savadkooh Branch of Iran. He recently, has published

research article in fuzzy differential equations in "Soft Computing" that is a reputed international journal of Springer.



Tofigh Allahviranloo is Full Professor of Applied Mathematical Islamic at Science Azad University, and Research Branch, Tehran (Iran). He has very much published articles in Applied Mathematics. He is referee and Editor of several international journals in the

frame applied mathematics and soft computing. He main research interests are: Fuzzy differential equations, Fuzzy partial differential equations, Fuzzy integral equations, Ranking fuzzy numbers and Approximation of fuzzy numbers.